TR : K105-A

R . TiRIEH : RESRIEE#&A34*20%15cm BMy : 1.00M
TRIEE 5 AH By = BB HaE e
FEiESRTEa B A = 2.94 221 650
ZAREEAFHREY T = 1.00 150 150 800
1:37K R 3% = 1.00 30 30
W 1E M 1.00 90 90
EETH = 1.00 10 10
M B & &f: 930 T
TEZME . K105-B
e . T7i1RIEE : EiEsEIta&A34720%25cm B : 1.00M
TRIEE AR B = BE #a(g P EE
fEIESRTEE B A X 2.94 357 1,050
BAREEAFRIER T = 1.00 150 150 1,200
1:37K)BHPER = 1.00 30 30
W 1E M 1.00 110 110
EETH = 1.00 10 10
M B & &f: 1350 7t
TEZMH . K107
$RE . TRIBR : BEiExAFRA30%10*15cm B{y : 1.00M
TRIER AR B = BB HRE P EE
RIS AFRA 552 3.33 186 620
BARESAFRIER T = 1.00 150 150 770
1:37KERD 3R = 1.00 20 20
W 1E M 1.00 50 50
EETH = 1.00 10 10
M B & &f: 850 T
TR . K108
RE . TRIEH: BEERAFASEIES%A60%60*12cm BNk
TRIEE AR B = BB RE Py EE
EiER A TAHESETEEEA A 1.00f{ 3500{ 3,500
ZAFREEAFHREDILT = 1.00 150 150 3,650
1:37KERD SR = 1.00 20 20
W 1E = 1.00 150 150
EETH = 1.00 10 10
R B & &t: 3830 T




